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SECTION-1 | GENERALAPTITUDE TEST | 25 QUESTIONS

Select the option that is related to the third
term in the same way as second term is
related to the first term.

Furniture : Plywood :: Flooring : ?
(A) Walls

(B) Tiles

{C) Mattress

(D) Slippers

Select the option that is related to the third
term in the same way as second term is
related to the first term.

Cricket : Umpire :: Football : ?
(A) Commander

(B) Whistle Blower

(C) Referce

(D) Arbiter

In a certain coded language, if *“WAITER'is
written as ‘XQCCLQ' and *ARTIST" is
written as ‘BSTQWEF’, then how would the
word ‘BEGGAR' be written in that
language?

(A) COEXID

(B) CQGYID

(C) CSGCl

(D) CQFZHF

In a certain coded language, if ‘SUMMER’
is written as ‘S21M13E18’ and ‘WINTER’
is written as “WIN20E1 8", then how would
the word ‘AUTUMN?" be written in that
language?

(A) A2IT2INI3

(B) A20U21M 14

(C) A2IT2IMI14

(D) A21U20NI3

T

Ql

Q2

Q3

Q4

a¥ fawey =1 gg= Sifee o de o
Adm o o dHaRg 2 R aw 9
T Y UES W 9§ HEla 2

FAIEY © WEGE ¢ FAT P
(A) @i

(B) 2oy

(C) Agww

(D) feeras

9w fawen & Ta= Fifew o det =
Adr ol o vERa 2 R aw A
GO T UBC WS ¥ waea 2

fordhe : afumaw - q_,ﬁiia -7
(A) THIsT

(B) ¥fd® (Whistle Blower)
(C) Yod

(D) anfdex

ve FAftea w2 W §, af¥ ‘WAITER
& ‘XQCCLQ' fawm wrem # aiy
‘ARTIST® &I *BSTQWF’ f&ran wiran &,
ol O¥l @ 9T § ‘BEGGAR' &1 &1
feran smem?

(A) COEXJD

(B) CQGYJID

(C) CSGCJJ

(D) CQFZHF

uw faftea @e wmr ¥, af ‘SUMMER'
@ ‘S2IMI3ELS’ formr oimar # aiw
‘WINTER' & ‘“WON20E18" ferar simer
g ot o @ I F CAUTUMN' &1
gy foran wmgm?
(A) A2IT2INI3
(B) A20U21MI4
(C) A2IT2IM14
(D) A21U20N13
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Pointing at a portrait on the wall, Madan said,

“That lady was the mother of the daughter of

the son-in-law of the father-in-law of the
mother of my son.” How is Madan related
to that lady in the portrait?

{A) Father

(B) Son

(C) Brother

(D) Father-in-law

Given below are four statements followed by
Identify which
conclusion(s) definitely follow(s) from the

four conclusions.

given four statements disregarding the
commonly known facts.

Statements:

. Allboyscan play

2. Some girls can sing
3. Allgirls can cook
4

No boy can sew

Conclusions:

) Nogirl can play

1) Al girls can sew

1) Some cook are girls

IV) Boys who can play cannot sew

(A) Onlyconclusion 111 follows.

(B) Onlyconclusions 1l and [V follow.
(C) Only conclusions Il and 111 follow.
(D) Only conclusions [ and IV follow.

Q5

Q6

Heq 4 dar @l e foa A AR
SN U HE1, a8 ARen W g A
& WL @ arre @ g A A o | 7eA
w1 99 faz arell wfter @ o wHay 87
(A) famm
(B) =eT
(C) #1%
(D) HH?

AR e 3N Iue wafea g e
fav v #) faftee &Y 5 o9 w9
ferd Ry v sy & Affas w0 9
I e/ & & /8 e 6 3w
w9 | @ aegl | B el

A

. o @ea @d uea &

2. T wefdl mum s e #

3. it wefsdi Wa= e gar &

4. @18 N wew Rrad 78 & |
8

oy

N @ =@ ad T8 g 2

I it dsfddi fred & e 8

Iy @&o aadl e &

V) oY wea A § 4 e a8 @
o &

(A) Fad e (1] 7o & €

(B) dad Fremd 1113R 1V aeR &%
g

(C) @aa Fepd 11 3T 111 SRRoT vl
gl

(D) Fad Fres |3y IV ST S
£l
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Study the below series and identify what
would come in the place of *7".

7,13,21,31,43,57, 73,7
(A) 89
(B) 91
(C) 93
(D) 97

Which of the pieces of information given in
the options is additionally required to answer
the following question?

Question:

Rajan is shorter than Ramesh, who is taller
than George. Who is the shortest amongst
them?

(A) Ramesh is the tallest person
(B) George is shorter than Ramesh
(C) Georgeistaller than Rajan
(D) Ramesh is taller than Rajan

Which of the pieces of information given in
the options is additionally required to answer
the following question?

Question:

The ages of three friends, A, Band C, are in
the ratioof 5 : 4 : 3. What is the age of the
eldest person?

(A) AiseldertobothBandC

(B) Theage of A is a perfect multiple of 5

(C) B was 5 years old when C was born

(D) The age difference between Aand B is
the same as the age difference between
Band C

A4 0K00

Q7

QB

Q9

Freferftan saen o ud o s o fs
geEifaes (7)) & == w ae w5
e |

7, 13,21, 31,43, 57,73, 7
(A) 89
(B) 91
(C) 93
(D) 97

ffafem v o1 oaR & & oy Rt
A Ay v wuen & fa o o sfafie
¥ A angvyEar srf?

TI:
I, O 9@ BieT g afiv v, oifol 9
@ & | 9 9§ wEw uer @ 87

(A) VY WA war g

(B) wifel, viwr & orer
(C) wifdl, oo & war
(D) 9, AT | a8

et vm & Iar &9 & o e
# fag 0 o & 5w o B afoRe
w0 ¥ AEagEar enf?

L'ECE

o @3l A,BalRCH a1g 5:4:3F
arqurer ¥ | WAl ang @re @faa @
g ferdt &)

(A) BfRCaFT A Aaar B

B) A @ g 5P qof ot &

(C) S C &1 o= B3 o1, @4 B &l 3y
sa o

(D) Ashe B oy 4 foreen sfee 8, B
sl C & amg % N gan & o &

SERIES-E-D




Q10

Q11

Q12

Q13

LM-E

Which of the pieces of information given in

the options is additionally required to answer
the following question?

Question:

All the students in a class passed the exam
and each one got a unique rank. Sushma
secured Tth rank and has 4 boys ahead of
her and 9 girls behind her. What is the total
count of students in the class?

(A) Sushma has 2 girls ahead of her

(B) The ratio of the count of girls to that of
boysis2:3

(C) The number of boys is more than the
number of girls in the class

(D) The topper of the class is a girl

Choose the odd one out.
(A) USB
(B) PCU
(C) DAD
(D) RTO

Choose the odd one out.
(A) Earthquakes

(B) Volcanoces

(C) Tsunami

(D) Global warming

Find the missing term in the following series.
8,24,48,80,7,168

(A) 148

(B) 112

(C) 134
(D) 120

i K

Q10 =R g o gar 29 & v e

# feu v wa @ 5w e @ afafe
T4 | JEgEo B

LESE

P P A i Rgandf axint gu afe
e o argfad Y@ ura &) g @
74l V& el sk awa amt 4 dea aen
ous 918 9 wefd # | wen gl
® F/ we e 87

(A) 99T ¥ A1 2 TrefHar &

(B) wrsfaral @) i &1 ored! o) gem
YU 2: 38

(C) ==l & Han oen # dsfhal 9
w4 afas &

(D) T&0 W y@d Yo UF FSF o A
2

frfafaa & 9 arima @& 999 #ifd
(A) USB
(B) PCU
(C) DAD
(D) RTO

Frafefae % 9 i & 9w @i
(A) @9

(B) SaremE

(©) §ri

(D) fervmamdt erwmw gfEy (e ifif)

FreferfRae sjwen # ger wwer s &Y
8,24, 48, 80,7,168
(A) 148

®) 112
(©) 134

D) 120
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Q14 Study the following pie chart showing Q14 Frafefaa od =rd, o 5 e Fam

expenditure distribution of a certain family qftar & @ Raver o veffa o g,
and answer the question that follows. IS W2 T 3 Ry T g o
IJnR a
Expenditure Distribution

Muedical
6%

Food
I 0%

Entertainment
10w

ofg yftam &1 =g T9e T 18,000 wime
& o weinar, suel afe ulass &+ wet
R B aren wife = fseen sm?

If the expenditure budget of the family is

¥ 18,000 per month, then the monthly 3
expenses on entertainment, clothing and 5

transport combined will be. (A) T 1R800
(A) T 1,800 (B) 3,200
(B) 3,200 (C) T 5,400
(C) T5,400 (D) 72,800
(D) T 2,800

Q15 Nikhil, who is Raman’s son, says to Esha, Q15 fAfaw, off % = @1 q= 8, §30 | @

“Your mother, Ria, is the younger sister of 2, st i Ran, W o A 916 w8
my father, who is the second child of 2, afte W e, o & w8 o §
Suresh.”
|y @ o | Ty Hay &7
How is Suresh related to Esha?
(A) foen
(A) Father (B) =TT/ WY/ WA
(B) Uncle (C) wré
(C) Brother (D) =ran
(D) Grandfather ;
LM-E 7 SERIES-E-D
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Q16 Givenbelow are three statements followed
by two conclusions. Identify which
conclusion(s) definitely follow(s) from the

given statemnents disregarding the commonly

known facts.

Statements:

.  Allcomputers are laptops.

ll.  Alllaptops are smartphones.
I, Some smartphones are tablets.

Conclusions:
l.  Some tablets are computers

Il. Some smartphones are computers.

(A) Onlyconclusion [ follows.
(B) Only conclusion I follows.
(C) Both conclusions I and Il follow,

(D) NMeither conclusion | nor [! follows.

Q16 ¥ Py v Iud Seim g1 Feed 2o

o # | R Y s @ /A P
faw v st @ FfYEa w9 @ s

FN/HW /8 90 & 9 9HEA wY

A e aedt |9 = 81

HY:

I Wi Fegex dvem &)
I i duety sndwE &)
[, &8 WEwH 2aue &

Frese:
. %P &ade FgeR 2|
. Y FREH Fvgey ¥

(A) g Fepd | s @ 2

(B) wae Fred 11 srgavor Hvar # |

(C) Fremd 1 afR 11 ST arwRor v
&

(D) =1 ot P s 5 & Frssd 11
HTERV BT 2|
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Q17 Which option follows figure C in the same
way as figure B follows figure A?

of|of = [&]:

(1] Ich

(A)

(B)

(€)

(D)

[ 5] ~
28~ -
~] [ 8]

QI8 Find the odd one out of the below list of

colours,

Orange, Violet, Brown, Red, Green, Indigo,
Yellow

(A) Orange
(B) Brown
(C) Green
(D) Indigo

LM-E

e T e

Q17 P=fafam i Fm wfResx i ca %EI

fea B,ﬁ? AT HTHYOT B .14 378EEH1E
ol: |0 [&]: 2
Al B i<l
(A) ;
T12
o | K
416
(©)
217
(D) »
b e

it & Pt o ¥ ¥ fw
a9 i |

(A) =T
(B)

(C) ¥
(D) e

SERIES-E-D




Q19

Q20

LM-E

Read the following terms and decide which
one does NOT fit in that group.

Average, Range, Mean, Variance, Standard
Deviation, Mode, Refraction

(A) Mean
(B) Variance
(C) Mode
(D) Refraction

Study the below statements and choose the
correct Venn Diagram depicting the

information in the statements.

1. Some boys cansing

2. Some boys candance

3. Some boys can sing and dance

Sing

Dance
Boys
Sing

(€)

Bovya

Sing

(D)

Dance

Ol BEPSEE

10

Q19

Q20

fPrfeafaa vt @1 ud afv Faifa &t f
79 W 4 @ W T B

siree. oftee, W, wewv, A e,
IEEP, AT

(A) ™Y
(B} WENO

(C) g0
(D) Iy

f=fafaa oo @) ud ofw st 8 Ry
T FHEE #1 yefta & ae &9
INE T TGO

. BB A% MIA N wHa 1

2. TP Asd T I waa )

3. oY d8d YT U@ A I
HEHd B

M=

3

70

#

qea
(B)
(C)

"
(D)

@Pp
®
&
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A cube is painted yellow on all its surfaces.
Later, the cube is cut into 64 smaller cubes
of equal size. How many of these smaller
cubes will NOT have yellow colour on any
of its surfaces?

(A) 4

(B) 8

(C) 12

(D) 16

Sonam and Sheetal leave the same office
and travel towards their homes. Sonam
travels towards north for 12 km, tums right
and goes another 5 km to reach her home.
Sheetal travels towards south for 12 km, but
turns left and goes another 15 km to reach
her home. What is the shortest distance
between their homes?

(A) 13km

(B) 17km

(C) 26km

(D) 34km

JLBEPLEE

11

Q21

Q22

UF U9 & ¥R Hasl & @S 9 |
faar ) 99D TR, 9w A @ wAE
IHR A1 64 B’ TAT F wie fEar man)
T 9 fFoe BR W g e
faret N were ax e o T wn?
(A) 4

(B) 8

©) 12

(D) 16

w3 fiaa @ @ sifew 9 Paa
TR YA BRI B AN " § ) a@em
SR B AR 12 km T 8, v Al g8
F 5 km gerdh! &, 3 39 'R ugE el
81 e 12 km & <fior 9 o o @,
AfF a4 3R g8 oit @ o ame W
o WEE @ g 15 km 3 g8 T av)
# | 9% wR1 B Heg =gaw o e 87
(A) 13km
(B) 17km
(C) 26km
(D) 34km
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Below is a statement followed by two

conclusions. Read them carefully and decide

which conclusion(s) logically follow(s) the
statement given.

Statement:
The quality of teachers has deteriorated in
the government schools and parents prefer

to enrol their children in private schools.

Conclusion:

I) Theauthorities must take immediate
action to step up the quality of teachers
in schools.

I1) All government schools must be either

privatised or closed down completely.

(A) Onlyconclusion [ follows.
(B) Only conclusion Il follows.
(C) Eitherconclusion 1 or Il follows.

(D) Neither conclusion | nor Il follows.

DiLBERLIE

12

Q23 #m e T 3 oad watoa 2 Preed

v 7 # | 9 arrgds o s Puifa
& & a1 w /A P Ry 1w sue
&1 ifds W9 W AT BT/ B
g/¥)

T

HYHT el A st B qugen @va
B ¥ & ol s s aw B
Preft vt # e Ram T akd
g1

ﬁ'ﬁ'ﬁ:

) wfererRat @ el o Rt B
e 4 guR @ fag aeee

HIATE]
Fel Ry |

i) & Evnr el &1 ar o FAofa
a faar s wifte ar gf w9 @
95 @ Rz s wiftg |

(A) ®aa fFrepd | el o 8

(B) #ad frepd 1| srqawr &ven &

(C) ar o e | ar Fresd 11 s
Far 81

(D) = @ Fremd | afiw 51 & Frssd 11

IEor Hven &)
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Q24 Choosean option that is a valid assumption

Q25
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for the below statement.

Statement:

Due to the concerns of pollution, the Delhi
government had completely banned the use
of crackers in the last Diwali festival.

(A) The bursting of crackers is considered
to be inauspicious during Diwali
festival,

(B) Citizens love to celebrate Diwali only
with lanterns and not crackers.

(C) Children love to watch movies and play
video games instead of bursting
crackers.

(D) The bursting of crackers further
increases the smoke and hence pollution
levels in the city.

Below is a statement and two courses of
action given. Read the statement and decide
which course(s) of action need(s) to be
followed with regard to the statement given.

Statement:

There has been an increase in the number of
burglary cases last year compared to
previous years,

Courses of Action:
I.  The police department must step up its
vigil with more policemen on night duty.

II. The residents must be advised to be
extra cautious with strangers and
deploy security guards and night
watchmen.

(A) Only Action | needs to be followed

(B) Only Action Il needs to be followed

(C) Both Actions I and Il need to be
followed

(D) NMeither Action [ nor Action |l needs to
be followed

13

J2TAE916

Q24

Q25

99 faeen &1 9aq ity w1 A=faiiaa
e & fow a9 awon 81

HU:

feeet WRaR A yguU & SR Ow
drarell A verEl & IudnT W) qof uftew
 f&ar ey

(A) drareh ud & SR TERY ST g
AT W 8

(B) @FT &aa afcdl | <aret! 790
TEd & 9 & qemEt 91

(C) o= YeTd Wai & quid a1 a@H]
T difEar 1 Wa 9ug wed § 1

(D) UeTE e ¥ i 98 war @ e
wiew ¥ gy & W ¥ gfE & el
2l

UF deA iy swe Hid gl
fermfafta § 1€ €1 FoF 91 v IR
799 P [ BT 10 Fua B "ol § B
1 fopafafer / frafafi &1 arem s
ey |

U

frosd af @ gor 4 39 ad =99 9

w4 gfE g 8

firmfafert:

L gfers R & v & W At
¥ 7 gferaaral @ a9
e agrl =nfdy |

1. frafat @ wone § @ @t 6
q gt & wfer sifofe arear
avd 3R GREw S e HHER B
A Y|

(A) Fad frarfafy 151 grem s =gy

(B) @adt fraifaf 11 &1 wem v =iy

(C) =FT formfaftrt 1R 11 &1 gieA
Cogileliy

(D) = o fpanfafdy 1 af =1 & frrfaf 1l

& UTA Bl FIfey
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SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

Megasthenes, the author of the famed
treatise about India called Indica, originally
belonged to which country?

{A) Portugal

(B) Greece

(C) Egpt

(D) Turkey

In which town of Uttar Pradesh would you
find the 14™ century mosque called as the
Atala Masjid (or Atala Mosque)?

(A) Ayyubganj

(B) Haidergarh

(C) Jaunpur

(D) Fatehpur

The Greenwich Mean Time (GMT) marks
the starting of time zones in the globe, and
the time in any country is a measure of number
of hours that country’s time is ahead or
behind GMT. This town of Greenwich is
located near;

(A) London

(B) Amsterdam

(C) Chicago

(D) New York

I5T06916

bl

Q26

Q27

Q28

e, SR IRa @ an | g
7y gfee fored 8, 98 7 w9 9 w2
B o7

(A) g

(B) ¥

(C) i

(©) g

1491 gt ) Wit AReTg o aeren
#f¥re (a1 Atala Mosque) 8T T &,
U e @ fra wew A Rem #7

(A) srgET

(B) BexTe

(C) S

(D) WeIERR

=faw #9 e@H (GMT) 7d| W1 2BH
T o YA B Wil B, 3w faed o
A9 A W GMT S ot a1 98 S0 &
HEY 9 e @Y A7 &1 g 8 | fEfe
frfafea 4 @ fow wee & o Rem
#?

(A) W

(B) TRESH

(C) R

(D) ~ifas
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The Cholanaikkans, Kurumbas,
Kattunaikans, Kadars and Koragas are
primitive tribal groups of which part of India?
(A) Andhra Pradesh

(B) Andaman and Nicobar Islands

(C) Kerala

(D) Odisha

Hero Cycles is one of the largest cycle
manufacturers in the world. In which city did
they first set up shop way back in 19567
(A) Ludhiana, Punjab

(B) Chennai, Tamil Nadu

(C) Sonipat, Haryana

(D) Kolkata, West Bengal

In which city of the world would you find
the Trafalgar Square?

(A) Bejjing

(B) London

(C) New York

(D) Paris

3358816

15

Q29

Q30

Q31

B ARG & e v & anfey
ST HE B

(A) arfg wewr

(B) 3iewM 3R fFeER g

(C) e

(D) anfsEm

R wefde gfvar & was 92 wefea
frferalt % & va 81 1956 § w=
TEcll % fF IEY A AT gEE B
WA @ 17

(A) FRrr, o

(B) &8, afferrg

(C) wirime, sRarm

(D) icrdrr, qi¥EH game

ey R R & fw e A
feer &7
(A) difsrT
(B) @&
(C) gufa
(D) AR
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Q32

Q33

Q34

The ‘Writer's Building’ is the secretariat

building of which state government of India?

{A) Telangana Government

(B) Kamataka Government
(C) West Bengal Government

(D) Gujarat Govermment

The city of Vijayawada in Andhra Pradesh is
located on the banks of which river?

(A) Cauvery

(B) Godavan

(C) Mahanadi

(D) Krishna

What is the capital of Azerbaijan, a country
that was once a part of the Soviet Union
(USSR)?

(A) Ulaanbaatar

(B) Kiev

(C) Baku

(D) Tashkent
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(A) T TRER

(B) Tled TXER

(C) uf¥em Fma TR
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(A) SeATEeN

(B) ¥
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Q35

Q36

Q37

LM-E

Which of these four awards is presented by
the King of Norway and is often referred to
as the Nobel Prize of Mathematics?

(A) Fields Medal

(B) Abel Prize

(C) WolfPrize

(D) Chem Medal

What is the official term of the office of a
Governor of a state in India?

(A) 3years

(B) 4years

(C) 5years

(D) 6years

What is the colour of the Ashoka Chakra in
the Indian h‘iml::ln..‘lr['l"l ranga) flag?

(A) Purple

(B) Magenta

(© NawBlut;

(D) Black

) jrd

Q35
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Q37
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(A) Flegw Aed

(B) U wigd
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eyt srRie e =T @1 Sar
27

(A) 3ad
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(C) 5
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Q38

Q39

Q40

LME

Which fruit was adopted in 1950 as the
*national fruit’ of India?

(A) Apple

(B) Mango

(C) Grapes

(D) Banana

India’s Accord Group and Oman’s Ministry
of Oil and Gas have signed a $3.85 billion
deal to build an oil refinery in which of these
countries?

(A) Afghanistan

(B) Bhutan

(C) SriLanka

(D) Nepal

The dolls made out of this string puppet art
form of Rajasthan recently won the
Geographic Indication (GI) tag. By which
name are these dolls known?

(A) Channapatna Dolls

(B) Kondapalli Dolls

(C) Kathputli Dolls

(D) Khurja Dolls

OL¥ROEEE
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Q40
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(A) MR

(B) e

(C) el

(D) =uret
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(B) e qfear

(C) Fogeeh TR
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Q41

Q42

Q43

LM-E

Lakshmi Vilas Bank (LVB), a 93-year-old
bank from Tamil Nadu, merged with a
financial entity from Mumbai. Name the entity.
(A) HDFC Bank

(B) Indiabulls Housing Finance

(C) Dewan Housing

(D) Reliance Home Finance

Name the country that conferred its highest
civil award, the Zayed Medal, on Indian
Prime Minister Narendra Modi in April 2019,
(A) lran

(B) Afghanistan

(C) United Arab Emirates

(D) Malaysia

Vidarbha won the 2018-19 Ranji Trophy
tournament. Which team did it defeat in the
finals at Nagpur in February 2019?

(A) TamilNadu

(B) Saurashtra

(C) Mumbai

(D) Kamataka

DLvEEEEE
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Q43
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(A) TaSIUE d6
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(A) $F

(B) BRI

(C) WY& R4 3T (UAE)
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(A) afrerTg

(B) s
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Q44 Who is the Director of Tata Institute of

Q45

Q46

Fundamental Research (TIFR), a premier
research institute of India located in Mumbai,
as of March 20197

(A) KN Vyas

(B) Shalini Bhatt

(C) Rakesh Bhatnagar

(D) Sandip P Trivedi

The new year for both Andhra Pradesh and
Maharashtra starts in the Hindu month of
Chaitra. In Andhra, it is referred to as Ugadi.
How is it referred to as in Maharashtra?
(A) Lavni

(B) Baisakhi

(C) GudiPadwa

(D) BhauBegj

Pandit Madan Mohan Malviya’s grandson,

Justice Girdhar Malviya, has recently been

appointed as the Chancellor of which famous

university/institution?

(A) ShardaUniversity

(B) Banaras Hindu University

(C) Mahatma Jyotiba Phule Rohilkhand
University

(D) Chhatrapati Shahu Ji Maharaj

University

20

Q44 Wi 2019 TF SUE SN & FUR,

OL¥FB0LEE

Q46

qag ¥ e ARG @ 9gE M HwerE,
T[T Yern AAEUE HeIE (TIFR) &
fréws @19 &7

(A) &Y.

(B) wmferil e

(C) THe HEATR

(D) wEm § BFEd

A WEE IR WERg e & oy |
Hiel ¥ 9§ % B 81 o A g9
Ty wer o #1 g9 wERs A
M ¥ wefia fmar omar 27

(A) et

(B) dwrdt

(C) TSt gsar

(D) e it

dfe Wee HigT AedE @ i, =
frer wed, g9 & A 5 afhg
frafaqamaa /dwm & sarfefy
(arwen) & w9 § fFgea fee 7y @

SERIES-E-D




Q47

Q48

Q49

LM-E

The Guru Angad Dev Veterinary and Animal
Sciences University is located in which city
of Punjab?

(A) Patiala

(B) Ludhiana

(C) Amritsar

(D) Chandigarh

The form of farming in which nearly all of
the crops or livestock raised are used to
sustain the farmer and his family is
traditionally known by which name?

(A) Subsistence Farming

(B) Minimalism Farming

(C) QuotaFarming

(D) Institutional Farming

Which of these is NOT an edible plantation
crop?

(A) Cocoa

(B) Arecanut

(C) Rubber

(D) Tea

33065410

21

Q47

Q48
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Q50  Inthe computer terminology, what is the full

Q51

Q52

form of PDF?

(A) Printable Document Format
(B) Print Dispatched File

(C) Protocol Disk File

(D) Portable Document Format

In which city of Uttar Pradesh would you
find the following majestic Ghats: Assi Ghat,
Manikamika Ghat and Harishchandra Ghat?
(A) Kanpur

(B) Varanasi

(C) Prayagraj

(D) Ghazipur

The famous Iron Pillar of Delhi, which has
withstood centuries of exposure to nature
without any rusting, is housed within which
of these historic complexes?

(A) Jama Masjid Complex

(B) RedFort Complex |

(C) QutbMinar Complex

(D) Humayun’s Tomb Complex

I342B410

Q50 ey Y@ %, PDF &1 qui w9 @1

#7?
(A) fikam Stepie wite
(B) e fewites wEa

(C) wWewia fevs wga
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(353 The Ukai Dam is in which state of India? It
is the second largest dam of that state.
(A) Gujarat
(B) Telangana
(C) Odisha

(D) Maharashtra

054 ‘'Bahujana-hitiiya bahujana-sukhiya’ is the
Sanskrit-based motto of which of these
national institutions?

{A) Doordarshan
(B) Banaras Hindu University
(C) AllindiaRadio

(D) Indian Meteorological Department

Q55 Forhelping farmers discover a better pricing
for their coffee, the Coffee Board has come
up with which of these innovative
marketplace apps?

(A) Coffee Blockchain
(B) CoffeeCloud
(C) Coffee Connect
(D) Coffee Choupal

LM-E
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Q33

Q54

Qs5
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Q36

Q57

Q58

Name the state that has launched a
commission called PRANAM Commission
to specifically look into the responsibility of
elderly parents of government employees.
(A) Assam

(B) Odisha

(C) TamilNadu

(D) Rajasthan

Where is the head office of the Tea Board of
India?

(A) Darjeeling

(B) New Delhi

(C) Kolkata

(D) Kochi

When you open a new Excel workbook, how
many worksheets is/are present by default
at the time of opening?

(A) One

(B) Three

(C) Five

(D) Seven
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Q57

Q58
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Q59

Q60

Q61

LM-E

Photoshop is a software program that is
extensively used for image editing, graphic
design and digital art. The company that has
the selling rights of this software is:

(A) Microsoft Corporation

(B) Apple Inc.

(C) Oracle Corporation

(D) AdobeInc.

EdgeVerve Systems is a wholly owned
subsidiary of which of these Indian IT
companies?

(A) Wipro

(B) Infosys

(C) HCL

(D) TCS

Which of these countries shares an
international border with the state of Uttar
Pradesh?

(A) China

(B) Nepal

(C) Bhutan

(D) Bangladesh

32088410
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(A) Microsoft Corporation

®) AppleInc.

(C) Oracle Corporation

(D) Adobelnc.

EdgeVerve Systems Fmifcifias o wiveiia
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(A) Wipro

(B) Infosys

(C) HCL

(D) TCS

frforfiga # 9 B9 W <9 Iaw wRY
T P U U Aarg W A
Fan 27
(A) 9
(B) et

(C) e
(D) AT

SERIES-E-D



Q62

Q63

Which among these districts of Uttar Pradesh
is completely surrounded by other districts
of Uttar Pradesh (i.e., does NOT share a
boundary with any other adjacent state or
country)?

(A) Saharanpur

(B) Deoria

(C) Hardoi

(D) Lalitpur

Veteran superstar Amitabh Bachchan hails
from which city of Uttar Pradesh?

(A) Prayagraj (Allahabad)

(B) Kanpur

(C) Meerut

(D) Agra

The famous Bankey Bihari Temple is located
in which town of Uttar Pradesh?

(A) Samath

(B) Varanasi

(C) Vrindavan

(D) Agra

35768410
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Q65

Q66

Q67

LM-E

Which of these is the state animal of Uttar
Pradesh?

(A) Red Panda

(B) Swamp Deer

(C) Indian Bison

(D) Water Buffalo

The city of Saharanpur of Uttar Pradesh is
globally famous for which of these arts and
crafts?

{A) Bangle making

(B) Perfumesand Scents

(C) Wood carving

(D) Carpet making

In which town of Uttar Pradesh would you
find the Central Avian Research Institute
(CARD?

(A) Agra

(B) Bareilly

(C) Lucknow

(D) Kanpur

33508410
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Q68

Q69

Q70

The state of Awadh (also called Oudh) was
ruled by Muslim rulers from 1722 10 1856.
What was the title that the rulers adopted
while ruling Awadh?

(A) Sultan

(B) Badshah

(C) MNawab

(D) Sahib

The famous Alai Darwaza, built by Alauddin
Khilji, is located at:

(A) Agra

(B) New Delhi

(C) Awadh

(D) Warangal

The historic town of Srirangapatna, home to
the tombs of Tipu Sultan and his father Hyder
Ali, is about 15 km from which of these cities?
(A) Bengaluru

(B) Mangaluru

(C) Mysuru

(D) Belgaum

LM-E

13148410
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Q71 Which of these organisations was founded Q71
by veteran freedom fighter, writer and
educationist KM Munshi?

(A) Theosophical Society

OLvERLEE

(B) Bharatiya Vidya Bhavan
(C) Indian Statistical Institute

(D) Indian School of Mines

Q72 The world would specifically associate the Q72
word ‘holocaust’ with which of these
countries?

(A) Gemmany
(B) Egypt
(C) China

(D) Mexico

Q73 During the Mughal administration, what was Q73
the exact role of a ‘Kotwal"?
(A) Leading the army for battle
(B) Maintaining the treasury
(C) Collecting revenue

(D) Maintaining law and order

LM-E 29
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Q74

Q75

The Child Marriage Restraint Act, 1929, is
popularly known by which other name?

(A) SardaAct

(B) Vijayalakshmi Pundit Act

(C) NaiduAct

(D) MNanavati Act

In which city did Swami Dayananda
Saraswati first establish the Arya Samaj in
the year 18757

(A) Bombay (now Mumbai)

(B) Ahmedabad

(C) Pune

(D) Calcutta (now Kolkata)

LM-E. .

TivaSyeE

30

Q74

Q75

qre fqare smvm afafam, 1929 @)
ffafaa fem e sm @ & s
ST 87?
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Q76

Q77

Q78

Q79

Q80

LM-E

SECTION-3 | GENERALSCIENCE /ARITHMETIC | 50 QUESTIONS

Use of chemicals for therapeutic effect is
called:

(A) chemistry

(B) chemotherapy

(C) physiotherapy

(D) chromatography

Which of the following diseases is caused
by the deficiency of vitamin D?

(A) Rickets

(B) Scurvy

(C) Nightblindness

(D) Pellagra

What is the percentage of fat and sugar
recommended in the diet ofa growing child?
(A) T

(B) 25%

(C) 15%

(D) 30%

Based on the United States Department of
Agriculture (USDA) guidelines, what should
be the daily calorie intake of sedentary men
and women over 30 years of age?

(A) 1,600 102,200 calories

(B) 1,000 to 2,000 calories

(C) 1,000 to 1,400 calories

(D) 1,600 to 2,400 calories

Hypocobalaminaemia is caused by the
deficiency of which of the following vitamins?
(A) VitaminB12

(B) Vitamin A

(C) VitaminC

(D) VitaminK

OL¥EZZEE
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Q81

082

Q83

Q84

Q85

LM-E

Which of the following diseases is caused
by the deficiency of vitamin B3 (niacin)?
(A) Rickets

(B) Beriberi

(C) Nightblindness

(D) Pellagra

Which of the following allergens causes hay
fever?

(A) Seafood

(B) Penicillin

(C) Pollen

(D) Nuts

Which among the following controls the
beating of the heart and respiratory
movements?

(A) Medullaoblongata

(B) Spinal cord

(C) Spinal nerves

(D) Pituitary gland

Which is the basic structural and functional
unit of the nervous system?

{A) Neuron

(B) Nephron

(C) Cerebrum

(D) Cerebellum

Select the non-metal added to swimming
pools to kill germs.

(A) Oxygen

(B) lodine

(C) Chlorine

(D) Nitrogen

OLyB20EE
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Q86

Q87

Q88

Q89

Q90

Solve the following.
10-[5—(5+10)]+5
(-5+10)-(5-10)+5 _ ’
(A) 1

(B) 2

©) s

®) 10

I2GEBO6

Solve the following.
0.009

0.9
(A) 1
®) 1.1
(©) 0.1
(D) 0.01

The sum of three consecutive odd numbers
is 36 more than the first of these numbers.
What is the middle number?

(A) 15

(B) 17

(C) 19

(D) 21

The average of ten numbers is 6. If each
number is multiplied by 12, then the average
of the new set of numbers will be:

(A) 20

(B) 28

(©) 36

(D) 72

144 144 ,
lfl].ld#_ . , then the value of ¢ is:

(A) 0.0144
(B) 0.144
(C) 1.44
(D) 14.4

Q86

Q87

Q88

Q89

Frfafaa & 53 9
10-[5-(5+10)]+5

(-5+10)—(5-10)<5 ~ °
A) 1
(B) 2
(C) 5
D) 10

Ffefaa @ ga %)
0.009
09
(A) 1
B) 1.1
(C) 0.1
(D) 0.01

=7

warre 9 Rwm Sl & am, gw
el ¥ 9§ geel Hear @ e i 36
Aty &) e e = &7

(A) 15

(B) 17

(€ 19

(D) 21

o0 "enl w1 a6 81 ot wae
wem #1129 7on U S 8 @
el @ Y de & e @4 g
(A) 20
(B) 28
(C) 36
(D) 72

144 144

ﬂﬁm—T B, o x & 59 a4

grn?

(A) 0.0144
(B) 0.144
(C) 1.44

D) 14.4




Q91

Q92

Q93

Qo4

The salaries of Arjun, Vikram and Vijay are
inthe ratio 2 : 3 : 5. If increments of 15%,
10% and 20% are allowed respectively in
their salaries, then what will be the new ratio
of their salaries?

(A) 3:6:10

(B) 23:33:60

(C) 21:03:60

(D) 23:35:60

Express the following as a decimal.
0.001%

(A) |

(B) 0.001

(C) 0.0001

(D) 0.00001

A and B together can complete a piece of
work in 6 days. If A alone can complete the
same work in 10 days, then in how many
days can B alone complete that work?

(A) 12days

(B) 13days

(C) l4days

(D) 15days

Monish can cover a certain distance in | hour
24 minutes by covering two-third of the
distance at 4 km/h and the rest at 5 km/h.
The total distance is:

(A) 6km

(B) 6.5km

(C) 8km

(D) 10km

J362R016
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Q91

Q92

Q93

Q94

o R Rug s des 2:3:59
¥ A 2 ok 999 dm A e
15%, 10% 3R 20% # o= gfE &
Fgaa & wwn &, @ 9Fd Y doE &
IO T B

(A) 3:6:10

(B) 23:33:60

(C) 21:03:60

(D) 23:35:60

Frforfiaa & svmeg d a@m &)
0.001%

(A) 1

(B) 0.001

(C) 0.0001

(D) 0.00001

A 3l B fieaw 5 & =) 6 21 4
T % "o § | af A s o &
@1 10 &7 % qur @ wawn &, o B ashen
a9 B F1 e R\ A qu v ww
8?

(A) 12f&=

B) 13k

(C) 14f&=

D) 15f@=

Hifrer v@ Pften gh & O-ferd v
BI 4 km/h 3R 99 911 B 5 kmv/h B R
W 162 24 fyere o av v 8| ||
8 s W

(A) 6km

(B) 6.5km

(C) 8km

(D) 10km
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Q96

Q97

Q98

A man, a woman and a boy can complete a
job in 2, 3 and 6 days respectively. How
many boys must assist | manand | woman
to complete the job in half a day?

(A) §

(B) 6

(C) 7

(Dy 10

The radii of two right circular cylinders A and
B are in the ratio 5 ; 2 and their heights are in
the ratio 7 : 5. What is the ratio of the curved
surface areas of A and B?

(A) 2:7

(B) 7:2

(C) 2:5

(D) 5:2

Iftoday is Saturday, after 71 days, it will be:
(A) Monday

(B) Frday

(C) Saturday

(D) Sunday

Ina AABC,AB=6cmand AD isthe angle
bisectorof # A.IfBD :DC=3:2, then
AC will be equal to:

(A) lem

(B) 1.5¢em

(C) 2em

(D) 4em

LM-E
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Q95

Q96

Q98

0w, uF afiva 3R vE e
®F B B 2,3 3R 6 AT A qu
W FE IR A e @
forg 1 aneddt afm | wfger & wemar &
forg fasemt wrest &t weTaar wfgy?
(A) §

(B) 6

(C) 7

(D) 10

) o gl & (right circular cylinders)
AR B B 5:29 yqum 7 v
! Hugdl 7: 5% J9w A &) AR
B® a% Y= P &3Gal (curved surface
areas) &1 JURT T |

(A) 2:7

®) 7:2

©) 2:5

D) 5:2

ufy s vfAm &, oY 71 B9 & aw, &
grr?

(A) HvaER

(B) gmar

(C) vfar

(D) YREw

AABCH, AB=6cm 3R LA o
WHRMIGT® (angle bisector) AD 8 | 4f2
BD:DC=3:28 o AC &1 W &I
BIT?

(A) lem

(B) 1.5cm

(C) 2em

(D) 4em
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Q99 If ¥+ -L =23, and x>0, then the value
s

of I+l is:
X

(A) 1

(B) 2

©) 5
(D) 6

Q100 Solve the following.
(cos’ @=1)cot’ @+1)+1=2
(A) -1
®) 0
C) 1
(D) 2

Q101 If*t" isthe standard deviation of a, band ¢,
then the standard deviationofa +6,b+6
and c + 6 will be:

(A) t

(B) t+6
(C) a+b+c
(D) 6t

Q102 If gand £ arethe roots of
ax’ + bx + ¢=0, then one of the quadratic

| I
equations whose roots are o and E will

be:

(A) a’+ bx+e¢=0
B) bx?+ax+c=0
C)ex*+ax+b=0
D) e +bx+a=0

LM-E
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Q99 af2 x’+L: 23 R x>08 -'H%Eﬁ‘r
X d

o+ a4 8P
A) 1
(B) 2
©) 5
(D) 6

Q100 Fr=fafaa & a1 &d)
(cos’ @1} cot’ @+1)+1=?
(A) =1
B) 0
€)1
(D) 2

afE a, balR c &1 W Rgam v e @
a+6,b+ 63 c+ 6 &1 7S fArads s
BIT?

(A) t

B) t+6

(C) a+b+c¢

(D) 6t

Q101

Q23R a +bx+c=0T YAl o 3N g B
o gfam it A @ e P 5@

1
B g Pfafm A4 &

= aik
BIT?

(A) ax’ + bx+c=0
B) bx+ax+c=0
(C) ext+ax+ b=0

D) ex?+bx+a=0
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Q103 Let @ be a prime and b be a composite
number such that a + b= 240.Also, the
LCM of a and b is 4199. Then a and b
respectively are:
(A) 23,217
(B) 17,233
(C) 19,221
(D) 13,227

Q104 Outof the following numbers, 2 terminating
decimal is:

(A)
(B)
(€)

(D)

Wik = =3 =g

Q105 TapAcan fill atank in 18 minutes, B in 36
minutes and C in 54 minutes. Tap A was
opened; | minute after that, tap B was
opened; and 4 minutes after that, tap C was
opened. The time required (in minutes) to fill
the tank was:

(A) 9
B 1
(©) 6
(D) 8

Q106 The ratio of present ages of Reemu and Alka
is 3 : 2. 20 years ago, which of the following
CANNOT be the ratio of their ages?

(A) 17:10
(B) 8:5
) 7:5
(D) 9:5

LM-E
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Q103 M & o U g He & AN b U

W™ e 2 A OE Bl a+ h=2403
AR B | SHS I o IR b F AYEH
wE® 4199 | @1 a 3w b & wEE
HIH R H A
(A) 23,217
(B) 17,233
(C) 19,221
(D) 13,227

Q104 Frafeafaa veet § 4 wa gvmea

I W R?

(A)

(B)

(©)

Wk K= s =

(D)

Q105 75 Al 23 &1 18 e & W waar

£, B¥ 36 e 4 afiw C, 54 fwe d W
wEal 8| 7@ Aden T 9na | e
a1E, T B @ T ol 9w 4 e
TR, 96 C @ 47| S B A B
for smavas v (Bee 9) fsaen an?
(A) 9
(B) 11
(C) 6
D) 8

Q106 ¥ 3w @ A TEiwE ATg F I

3:28 ) 2074 ugal, F=foftea 4 @ @
1 TS WY BT U A€ § "
2?
(A) 17:10
B) 8:5
(C) 7:5
(D) 9:5
SERIES-E-D




Q107

Q108

Q109

Q110

LM-E

Ram is twice as good a workman as Rahim.
Ram takes 6 days to complete the work.
Rahim will complete the same work in:

(A) 6

B) 3

(C) 12

(D) 9

. 3 g .
If sma-cnsa:;, then sinacosa is

equal to:
3
25
16
25
9
25
2
16

(A)
(B)
(©)

(D)

When the number & is increased by 20% and
then reduced by 20, we get 160. If the
number & is reduced by 20% and increased
by 20, we will get:

(A) 144

(B) 140

(C) 152

(D) 148

While selling 5 m of a cloth, profit made is
equal to the cost price of 2 m of that cloth.
The profit percentage is:

(A) 40%

(B) 30%

(C) 45%

(D) 33‘;‘%

SLBEZEEE
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Q107 ¥H & Hdewen W B HEhEET |
AR & | v el @ @t 6 R\ H g
Her & | WM 9 w1 feee 2t
™ By
(A) 6
(B) 3
(C) 12
(D) 9

Q108 afg sina —cosa :%B, o7 sin@cosa

&1 AT g1 BIT?

A=
B) 55
(€

(D)

Q109 v™ U " a¥ 20% 3fg exh & afiw
= @g 20 % &1 ok &, o &9 160 W
siar 81 gt Wemad 20% T e @
3R 20 9 g ©R @ o & = wa
BIT?

(A) 144
(B) 140
(C) 152
(D) 148

Q110 5 m &9ST Ao & A, Ifoha am s9
TUS B 2m S HY oA D a0 g f |
ifofa @ uftver s & |
(A) 40%

(B) 30%
(C) 45%

|
(D) 333%
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Q112

Q113

QI14

Q115

What is the name of the reserach station set
up by India in Antarctica in the year 20157
(A) Dhruva

(B) Hind

(C) Sagarika

(D) Bharati

Which of the following institutes was the first
1o be established as IIT (Indian Institute of
Technology)?

(A) UT Kanpur

(B) T Bombay

(C) UT Kharagpur

(D) T Madras

How many years of orbiting Mars planet
were completed in September 2018 by the
Mars Orbiter Mission launched by ISRO?
(A) 4years

(B) 5 years

(C) 6years

(D) 7years

In the water cycle, clouds are formed by the
process of:

(A) evaporation

(B) condensation

(C) decomposition

(D) melting

Which of the following is a sign of deficiency
of vitamin C?

(A) Bleeding gums

(B) Protruding belly

(C) Nightblindness

(D) Stomach ache

LM-E
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Ql11l

Q112

Ql13

Q114

Q115

af 2015 % wvE gaW Se@fes! # wfta
IR T B AW = 87

(A) g9

B) fe==

(C) =i

(D) et

fFrtfefiae # & fFa wwm= & g 1T
(A ﬂlqd e 'ﬂ‘NIﬂ} & & # v
fasay T ur?

(A) UT TR
(B) UT#

(C) IIT TSI
(D) NTwErE

gad (ISRO) gamr wafda Al aiffdex
foyerr & wmezm & facdaw 2018 9 wred UE
&t aftwn e aut F gft Y g7
(A) 4ad

(B) 5ad

(C) 6ad

(D) 794

Wid 9% |, arEa & oq refefad |
@ frq wfter gawy &ar 87

(A) amefravor

(B) |

(C) qEeq

(D) TeA-TE

frfafam % & @9 ar fRefs C @
N BT e 87

(A) WSt & g Fao

(B) Y2 amey AN

(C) weih

(D) % ¥4 34
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Q116 Who among the following are at higher risk
for anaemia?
(A) Old persons
(B) Children
(C) Pregnant women
(D) Animals

Q117 Which of the following animals can spread
rabies?
(A) Lizard
(B) Squirrel
(C) Pigeon
(D) Dog

Q118 Which ofthe following are an example of
surface water resource?
(A) Lakes
(B) Wells
(C) Oceans
(D) Tankers

Q119 Which of these is an inner planet or a
terrestrial planet in our solar system?
(A) Satum
(B) Jupiter
(C) Mars
(D) Uranus

Q120 Fuse protects an electric circuit from:
(A) overloading
(B) converting one form of energy into
other
(C) carrying current
(D) inducing current

LM-E
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Q116 Frfafaa # & fem) whifirm 89 &
o siftw g 87
(A) 7= =i
B) T=
(C) miad aftend

(D) WY

Q117 F=fofaa 4 9 @9 wr weae Wa den
wear &7
(A) Busa
B) fresd

(C) T
©) e

FRIT

Q118 F=fafea 4 & @9 W o8 W oia
HEMEA &1 UF ISw 87
(A) s
(B) Fanm

(C) wyw
(D) E&w

Q119 Fr=fafaa 4 9 #F @ =R ¥R d=9
&1 s iofits ur a7 oty ag 27
(A) o
(B) gewafa
(C) wTd
(D) 3o T

Q120 wg¥, W& Rgyy wRuy (safigs wf¥ie)
1 gean Frafafea 4 | fFed oo 87
(A) FfRmm (slavenfe)
(B) il & yas w9 W gEr A qRad=
(C) uwy uftass
(D) =T FBR
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|
|
| Q121 Which instrument is used to detect the
| presence of current in a circuit?
‘ (A) Ammeter
(B) Voltmeter
(C) Rheostat
(D) Galvanometer

Q122 The three basic units of an electronic
communication system are:
(A) transmtier, transmission channel and
receiver
| (B) modulator, demodulator and repeater
(C) transmitter, noise and information
(D) transmitter, signal and modulator

Q123 The lowest temperature at which a substance
catches fire is called its:
(A) melting temperature
(B) ignition temperature
(C) boiling temperature
(D) freezing temperature

Q124 Chemicals are added to food for:
(A) degradation
(B) decomposition
(C) preservation
(D) recycling

Q125 Which of the following statements is TRUE
about synthetic detergents?
(A) They work with both soft and hard
water,
(B) They do not work with hard water.
(C) They work only with hard water.
(D) They only work with soft water.

LM-E
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Q121 wf¥e % Rgga & sulefa &1 gar s
& fou Prafafaa 4 9 e guesu &
v fear s 87
(A) UHrex
(B) dieewier
(C) Rawete
(D) fredenies

Q122 geaifFa Haw gomen @ &= gfard

gagdl B @ &7

(A) gidieR, giafee 99d afv i

(B) #iggaiey, ferifsgaey aiv fdley

(C) greiieR, Aig9 3R 7w

(D) zreier, Rra afiv dfggeaes

A &9 A fora o #1E et s
uFSal &, 99 F9T wEl T 87

(A) THAATH TUHE

(B) W AYHMA

(C) F=Tis amaaE

(D) fwiw amwe

Q123

WioE W waE 5 Stwm @ fen
W &7

(A) P (fBisem)

(B) dUEEH

(C) weET

(D) YRR

Wiae smnfs (Rt fedle) @
an ¥ fr=fefaa % 9 29 a1 o wd
27

(A) 4% 95 3R TR Td TE B W™

T B B

(B) U8 FOR WA § TW Té I &)
(C) U8 #ad FoR Wt 3§ oW Fva £
(D) 9% Badt §g ot 4 oW I 8 |

Q124

Q125
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Q126

Q127

| Q128

Q129

Q130

LM-E
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TN @ ORd WY T4 En?
(A) W@
(B) 3R
(C) mn
(D) =t

g fo g U3 @ fow ougew e
e ;1 OEN?

(A) T

(B) wwred

(C) wwfam

(D) =

W W e & ower twr
g &) - ofte e © R wm
i |

(A) afERv

(B) w9

(C) forr

(D) amen

TS o qu | a8 81 - T
Hauas W o | 8?

(A) I8

\) fa=n

(C) g

(D) &

fw e A o gg &7
(A) T

(B) wata

(C) wafdh

(D) ErrTT
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Q131

Q132

JOG0G3E

X

Q133

Q134

W @ &8 |~ [ &1 & gamm
27

(A) wiew adam

(B) wiew ¥

(C) wfem wisg

(D) | wfaw

Fefafaa 4 4 99 W waaren &
JEEv 87

(A) 9 qeas g

(B) U¥i® &l Wt &

(C) ™ wnar A &

(D) €9 H ¥ar T8l |

fr=ferfea # g8 @ @ #7

(A) # amuat geiA @ aman &)

(B) %9 @ & @el # el & da
q B

(C) # g+ a1 & whtawn 3 fig
TR g

(D) U vans anf 3 2@ o ah

Te-g™ & 49 fFa Ram-fes @
wanr far smem?

(A) ,

B) -

(C) :

D) ;
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Q136

Q137

Q138

LM-E

A Ry gera? o o5 e el & W A

¥ U® Wl T 8, 99 gsaH |

(A) 3 & @@ g = wEd!

(B) aifa 7 3 31 =T N FE
a1 19 7 A 5

(C) ama+ Brerem = f=fea = g

(D) JTEHF € USAT = T0E HT HHe
'I.'.Ra_,'?ﬂ

A &1 3 w9 AgEgE — S
o1 Wl aef g

(A) T & ITHT AH BT

B) T & g AW B

(€) 7 &1

(D) W@t # Y ver foan =f

EATHR 3R TEA BT B |G A
el 87

(A) g — AR AFE

(B) Tow — fAvmaa

(C) e — uxmEa

(D) e — Rrawae

g ot 3l M A T Rewa
va &7

(A) e i fiE

(B) wwew wAf el

(C) Wiy sRwEs

(D) rger &g

Q139

Q140

T 2016 1 At HSEA IR 69
veeTeR @ fEar T

(A) wger i

(B) vHurER wE

(C) wmeve A

(D) nfwRr

wa & e B ek faf daerrd
grft I 78 Wi <R @ v aqede
A foran T 87

(A) 343

(B) 344

(C) 345

(D) 347

fFr=fafaa ggie &1 ud s weAl
(et e 141 - 143) & IR )

wide=f @ WAl 4 grwedl #1
I 3 HEa g & | §7 g Hite
& offas it wn, g o afiefe o
2| qgwwEy WAl @ gfose @
Witar—umrar TarE &) g0 P @ W
1 2 1 B L
o | qweeE AR @ fig 7 T
awg 1 8| fafd & anfaesw 9 s e
@ P yeaat o HuE e @ # )
ug darery, fgae R quea @
et & wjE W e 9| 3 afafe,
fgaoeost @ amm ol gwereg W

B & | EviEen @ anfewR 9 O gwet
T HUE T ATAda 3 098 [ 41

7 ot | ITwee wrrer Rafy @ gy
¥ forerh wufer ol 8, 9o g9 Rl
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Q142

LM-E

- U qEe @ U § am
W e 9 | 9Ra @ JEded 66N
W YA EA 6 W 9| W
q e wuEl & g a9 af Rl
W | 94, sew vt g Rea 2ui @
ge—a—ge fagarErh ad arnd v
WIRE AT B o |

Sydaa Ay & Sfta dde w7 @
Haar 87

(A) W &1 & RIS

(B) gwi@aid &1 gfoem

(C) gwil &1 HUE

(D) ge@Taa i wRa

ey ¥ Y@ifda sy @ oftwr amen

a4y grfr?

(A) wifgca & I=ifd &1 v s
eyl WA RS

(B) TR WRa a1 wfafe & wwor

@ ¥ 371 qEaredl @ s b,

wrRE wia gy R 2o 9

TN ANG A I | A Ra B

Fia—iNg & SR |

ARG & QEIdTord HAN W N Y

| TE] v o

qeurden & anfaws | qd gt

BT HIB T ATdd 6 TWE

YA 41 A 4| R A HER W

wIDl & HUE B WE faamn|

(©)

(D)

i

Q143

Q144

Q145

Q146

g it I=1fa &1 wad I weagd
|EA F 87

(A) 2ag

(B) ureid

(C) Ty

(D) Heomery

frefafaa % @ fvwa sirfa Pl
gfgdl @ Wl aw y2afe st
YA a1 I &7

(A) 7=

(B) uRu=

(C) W= fawf

(D) FEafea e

frefefaa # & farwsr war wwamd
TR 9 aiferarer wdta et 4 g
e faw, sy, aftrer stz
Frafecrat &t e & g # g 27
(A) Fafea e

(B) g

(C) s+

(D) wRa=

Prefefara # & @ wn wya wav T
27

(A) ©

B) ¢

© &

(D) 3
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0147 Fr=fafes § @ o9 o aof S 8 87
(A) A
(B)

PENDES T

Fa

(C) &
()

|

Q148w # farw Suwef @1 wAeT B3N 7
(A) W9
(B) ¥
(C) #
D) 9

Q149 Pr=fafaa 4 @ e wer 3 ofa o
&1 WA g 27
(A) mffs
(B) Pree
(C) wTow
(D) e

Q150 ¥ W W& Toan TSl 87
(A) ared
(B) gl
(C) wIE
(D) Mes
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Read the following Instructions carefully :

fFr=fafea Adet ) e @ 9 -

I. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkencd
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable
to be changed

2. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

4. The candidates will write the correct Test Booklet
Scrics as given in the Test Booklet in the Attendance
Sheet.

5. Each candidate must show on demand his / her Admit
Card to the Invigilator

6. Nocandidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
seal.

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Altendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as
an unliir means case,

8. Use of Pencil/Electronic/Manual Calculator is
prohibited.

9. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unluir
mcans will be dealt with as per Rules and
Regulations of the Commission,

10. After Examination is over, candidate has to return his
Answer Sheet to invigilator. Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed to take Candidate's copy of
answer sheet.

11. Candidates are not allowed to take Test Booklet with
them. They have to submit the Test Booklet to the
Invigilator after the exam.

'E'EE‘.IG‘W‘T

ols 9 @ e Ry 73 g Aot § @
el 9 @ fog Al R, e 9T UEE uv
#el U el 1 8 g8 TRE Do) a1 uiEe
U1 § W | UF TR IR e B 9 @
A% S qedl 8 A GHaT B |

qdemel] ghftaa w¥ ) I g5e B H@er
A WY U9 96 9 g 3 [ a3 qJmd
gdemll 9 FgEEE IR e A Peia
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